| Efficiency vs Dxy |
>0.01,
X

L R R
L0 e | AR S
<
@Dosi—----%------i ------- R | R A A R
K S S S S S R S S
O e
I T R D R
O e A A
QUS4
000t
0003

TP s e
N
o+

Rat

=
!

098 56-15-10 =5 05 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_baseline_lowPT
| Efficiency vs Dz | —— DQM_mKFit_baseline6iter_lowPT

—— DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3_lowPT
_50.05 . ; ; :

VTN RS § S S S—
L A Ak

Q g : : : : :
POA
O r : : : . .
GEO35F paseneeeeas Pl AR B .
© F : : : : :
0.03fF oo e e
OPIC NS SRS 1 [ [ e -

002 ol

0.025F LA L
0.01 o [
- : ' 4 : :

0008 AT

.............................................................

----------------------------------------------------------

TP dz (cm)



	Contents
	Page 1


